Paper: B.E_B.Tech

Set Name: | Set 08

Exam Date: | 26 July 2022

Exam Shift: | 2

Langauge: |Gujarati

Topic: Mathematics-Section A
Item No: 1

Question ID: 144961

Question Type: | MCQ

Question: 2+ (3 —ayx + 1 =2a <li oiloflsti Q21leti U104 et YU
A: 4

B 5

C: 6

D 8

Topic: Mathematics-Section A

Item No: 2

Question ID: 144962

Question Type: | MCQ

Question: Alz=x+iy ¥ [z/—2=0 Ve |z—i— |z + 5i| =0 HHIHIA 53, dl

A: x+2y—4=0

B X+y—4=0

C: xt2y+4=0

D x2 —y+3=0

Topic: Mathematics-Section A

Item No: 3

Question ID: 144963

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 4
Question ID: 144964
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 5
Question ID: 144965
Question Type: | MCQ
HI03 P A Q W Wefs dsl (x— 1)2 + (v + 1)% = 1 U 194 5164l [eiga)
Question: 8. dl B{dRAGHI P 24ol Q 42of vid2 Peli x-AlMell 5165 (BUl U2
ool Y9l
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4
Topic: Mathematics-Section A
Iltem No: 6
Question ID: 144966
Question Type: | MCQ




o] (A8 7 (v) = tan~! 2x — 3ax + 7 A | —g, %| Hi g2d o €ld ddl a «fl Hedu

Question: :n:
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Topic: Mathematics-Section A
Item No: 7
Question ID: 144967
Question Type: | MCQ

Question: Y3 8185 a e R U2 B tim B 7D §,spoye 8},
x—=0 ox(e™-1)

A: E

5
B: i

2
C: E

2
D: 1

2
Topic: Mathematics-Section A
Item No: 8
Question ID: 144968
Question Type: | MCQ

T d .

Question: B Yl log_2 = (logqps, cOSECY ) ol HEU 8.
A: _gﬁ
B: 2\5
C: —4
D: 4

Topic:

Mathematics-Section A




Item No: 9
Question ID: 144969
Question Type: | MCQ
20m 5
Question: [ (|sinx|+|cosx|)” dx =
0
A: 10(n+4)
B: 10(m+2)
C: 20(m - 2_]
D: 20(m+2)
Topic: Mathematics-Section A
Item No: 10
Question ID: 1449610
Question Type: | MCQ

B x1? 4
w3 (s s =T xe (<11 o) Gha ds y = f(x) 3

e

Question: £
GomfcigHifl iR A B. dl | f(x)dx =
B
3
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Topic: Mathematics-Section A
Item No: 11
Question ID: 1449611
Question Type: | MCQ

Question:

[eig, (1. 3) Hiel Guaay 2:2 + 332 = 5 U2 €13 w2l 5l+il 215 9<ll agslul
23




A: tan ™" [ 8
\ T\E)
B: tan ™! ” i\
\ ?-\EJ
C: tan™’ i
\ T\E)
D: tan " 3+ 86}
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Topic: Mathematics-Section A
Item No: 12
Question ID: 1449612
Question Type: | MCQ
Question: RG] y=x2 Wl 3= (x—2)2 ol Ul 22l s5ef w5201 8.
y=4(x-2)
B: v=4(x-1)
C: yv=4(x+1)
D: y=4(x+2)
Topic: Mathematics-Section A
Item No: 13
Question ID: 1449613
Question Type: | MCQ

g% dd Uetl & [Gigil P el Q ol x-A1H W x2 — 4x — 6= 0 «li oilor D dall
P 3l Qell p-lH AW 32 + 2y - 7=0 41l oflor B, %l ada

Question: s .
1P+ 2ax +2by+ e =0l QR PQ ER, dl (a+ b—c) o R
8.

A: 12

B: 13

C: 14

D: 16

Topic: Mathematics-Section A

Item No: 14

Question ID: 1449614

Question Type: | MCQ




Question: ofl 3l x — 1 =0 ¥ U[dqe ko -2 = 6 «il (1151 1, dl A [dgay
' [oigniell yulR «l.

A: [—245 _. 5]

B: [—‘Jg, 3]

C: (‘\E — 2)

D: (245.346 )

Topic: Mathematics-Section A

Item No: 15

Question ID: 1449615

Question Type: | MCQ

dleaN 7 715 gRi(AaRld adi uude wa aleRll 75 744 GRL 4RI
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Topic: Mathematics-Section A
ltem No: 16
Question ID: | 1449616
Question Type: | MCQ
1 P -1 )
| oAl O<x<— wa ST _CS X gy ) gin| 2L | ffye
Question: \E o B oa+P
2]
A: afl1-x7)(1-2+7)
B: 4x [1—x2][1—2f)
C: 2x [1—3;2][1—4.:,2]




D: af(1-+7)(1-42%)

Topic: Mathematics-Section A

Item No: 17

Question ID: | 1449617

Question Type: | MCQ

Question: wely 21[@eusdp = (g = p) o [ 8.
(~p) A g

B: pA(~q)

C: (~p) vV (~¢)

D: (~p) A(~g)

Topic: Mathematics-Section A

Item No: 18

Question ID: 1449618

Question Type: | MCQ

HIR1% [guel (Adld dlees uq xa Heals 4 ([Qurel % 8. dl 54 P(x=2)=

Question:
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A: —_
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B: —_—
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81
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Topic: Mathematics-Section A
Iltem No: 19
Question ID: 1449619
Question Type: | MCQ

Question:

1

1——=|(cosx —sinx)

f[ "‘E z dx = ;
14+ —sin2x

g
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2 6)
oG
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X 7
tan| —+—
[2 ]2]
X =
1 aﬂ[i_ﬁj
D —log, | ———|+C
X =
tan| —— —
)
Topic: Mathematics-Section A
Item No: 20
Question ID: 1449620
Question Type: | MCQ
Question: Asly=2 -1/ Wely =1 4RI AAAG &A501 23
A: ( +1
B (JE 1)
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o Y
Topic: Mathematics-Section B
Item No: 21
Question ID: 1449621
Question Type: | Numeric Answer
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Question: .
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Topic:

Mathematics-Section B

Item No:

22

Question ID:

1449622

Question Type:

Numeric Answer

—> .A Al il A AN — s M M M A
vl r =£i+j]+?ﬂ.[f+aj—k] ddl r ={i+j]+u[—f+j—ak] el

Question: ., ] ' :
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Topic: Mathematics-Section B
Iltem No: 23
Question ID: 1449623

Question Type:

Numeric Answer

511, 2. 3. 4. 5 Wl 6e1l GUANIE] I8l Yeliaded (M1 1000 4o

Question: 3000 422 4 945 ([Aed Ud] AvAll selgd i 2119 §. dl w41d] vl
54 Al 9.
Topic: Mathematics-Section B
Item No: 24
Question ID: 1449624
Question Type: | Numeric Answer
19 k m
- Al m A p RBR Ao Sl U Y ———=—¢cld . dlm+n=
Question: mk +k+1 n
Topic: Mathematics-Section B
Item No: 25
Question ID: 1449625

Question Type:

Numeric Answer

of| vidz14 [0. 2] Hi M52 2eld 25in20 — cos26 = 0 21 2 cos?0 + 3 sind =0

Question: :
oAl G54ledl A1 ke €l dl k=
Topic: Mathematics-Section B
Item No: 26
Question ID: 1449626

Question Type:

Numeric Answer




40 Mgl seilot] Heals el UHIBIc [Gudst w5 30 24 5 B, ¥ BRI S
WIHL ] & widd) 50l 12 24at 10 W21 T1A AlaaiHi 2 1cdl 8. ol Hiledlxieil

Question: :
A vilel Hadlsella g2 sul eiesdl viledle uHilBid [quadt o €1, dl 3862 =
Topic: Mathematics-Section B
Item No: 27
Question ID: 1449627

Question Type:

Numeric Answer

L -y +3(1=Dz=1,%+2y—z=2Higfl YAIR Ydl H UHd

Question: 3x+2y+z=61 60 YHAA 3x - 8y + 7z =4 D, %1 I L 2 y-vi8f ]|
qeL5181 6 Sl dl 415 cos?=

Topic: Mathematics-Section B

Item No: 28

Question ID: 1449628

Question Type:

Numeric Answer

HIR% y = »(x) W [dsd yHls01 %— y=2—¢" ol ¥dl B¢ a5 D % Bl

Question: Tim y(x) it 8. 1 x =0 UIA dsell WRAsetlx — dUly — vidt: WSl UejsH a
W b Sl dla— 456 - Y& 92l

Topic: Mathematics-Section B

Iltem No: 29

Question ID: 1449629

Question Type:

Numeric Answer

Bof Ui U 100, BEG UE 199 el AIH I dsldd Yeils €lu ddl (¢Het uHide

Question: A6{l2{le{l 221l 52A1Mi 2419 B, NI 191 3 UEL 2ol ayHi ay 33 Ugl
aloil wiid] wid] o YHid Auilailedl Uil dsiddledl {410l B,

Topic: Mathematics-Section B

ltem No: 30

Question ID: 1449630

Question Type:

Numeric Answer

Question:

A=4"'8WAql AR5 4 =[“ .j %lla.b.e.de {-1,0.1.2.3, ..... 10} «l
c

Hu2| 8.

Topic:

Physics-Section A




Item No: 31

Question ID: | 1449631

Question Type: | MCQ

Question: ol Ulgud ueledlal uHlet WIZ(e15 Aot e M [ELldey 18 wioysH 45° 2 30°
SIAL EsAIH] 241 B, duiled] a2l il 8.

A 1:42

B: V2:1

C: 2:43

D: V3:2

Topic: Physics-Section A

Item No: 32

Question ID: | 1449632

Question Type: | MCQ

o (1R Be{lufui, alduzeil 10 S04l YU Bsetedl 9 sIUL MR 4 8. d[1R
Beflurdstl st soil wisofloantel 2Ll & IR dlelur urell 2ol sl Huy
Bdeil 2ot siule] stefledi W & wa dl=lu2 yell Aledl s1Ul Hu Bl
wcdlsel U8 ofd QA B, Yud BvGetl WS S1UL 1 mmell 9. A4 uglel-i)

Question: 21 U] qud qda & setlell 9l ussa] 24 8. ¢d 3q %Al 1A B
3 6] qfduredl 2ed 514l Hud Bdetl 3041 1l 31HL S1UL] 922 119 B, w4
o [uRel) 6™ (£981) 51Ul Hua Byeleil Hddlset 118 eRAR eigAudl #11d 8.
U151 dxdell 29l.

A: 3.02 cm

B: 3.06 cm

C: 3.10 cm

D: 3.20 cm

Topic: Physics-Section A

Iltem No: 33

Question ID: 1449633

Question Type: | MCQ

0.15 kg £91 4214l 215 619 defl 12 ms! Bedll uii(e1s »5u 18 [edlda
w51 B WA dofl UIR[HS ASUHT B2 D21 UL B51U B, o) (edld gl

Question: ofld GUR AuS e2(Hatet 41o1d vl 100 N €l dl (edld w4 oilg o) 2{ub
HHY 3.
0.018 5

B 0.036 5

C: 0.009 s




D:

0.072s

Topic: Physics-Section A
Item No: 34

Question ID: 1449634
Question Type: | MCQ

8 kg 1o 2 ke £ 4Uddl] A A2l uHlet 2AlAGEs U1 AUl 53 D. Adledl

Question: | 3apieflefl il 29,
A 11

B: 2:1

C: 1:4

D: 4:1

Topic: Physics-Section A

Item No: 35

Question ID: 1449635

Question Type: | MCQ

5 mm el 10 mm (H%L121] HR1dd 1 249 [ Hd [@gdetiild A «ialsily
Hdlesl 4 vie Bl 2 em 2ld? @2l UISdl 8. %1 A0l 215 Ydles dlR dS

Question: of|SAIHI 19 d, Actdet waeHI AL 4 el B «il wuLe] GUr [AEd8ateti
HRle{] 2[Rl 219l

A: 1:2

B: 2:1

C: 1:1

D: 1:4

Topic: Physics-Section A

Iltem No: 36

Question ID: 1449636

Question Type: | MCQ

U4 [agyd A sla dami €ldld Jusla

Question: 83 B, =510 sin1000m(5x — 4 x 108)T 435 wudMi #1414 D). [A8d A4eil
sulaxdiR o9,

A: 15x10% Vim™!

B: 5x107° V1

C: 16x10%2 pm ™!

D: 4x10% ¥m !




Topic:

Physics-Section A

Item No: 37
Question ID: 1449637
Question Type: | MCQ

U121 My 2ol M, A G g1 240150 15108 ms™! 2l 2.0x108 s o{l

Question: :
$SU AL 3A[d 53 B, duiled] 9] sildslel 29,
. sl 3]
A. tan L .J;J
-1(2
B: t 4 3
w2
C: 1 E
w12
D: in~ 2
510N (3)
Topic: Physics-Section A
Iltem No: 38
Question ID: 1449638
Question Type: | MCQ

s drgel yedlsfl 1u1] Gurell w5 [ddaiel syl date]l (2R1de Ged

Question: [Calldi B5dHl 2119 B. did R UIH 539 HedH GlULY 99l
(yecilsfl (o1l = 6400 km Wl g=10 ms~2 €l.)

A: 800 km

B: 1600 km

C: 2133 km

D: 4800 km

Topic: Physics-Section A

Iltem No: 39

Question ID: 1449639

Question Type: | MCQ

s 5U[AdR 2UE MBI Rd HI2 HedH wa *Yetdd d1e2 o5 60 V

Question: | 219 20 v B, uld2lct 2A[EFLELd 15 (modutation index) 919,
A: 0.5

B: 50%

C: 2%

D: 30%




Topic:

Physics-Section A

Item No: 40
Question ID: 1449640
Question Type: | MCQ

-
F

;”' (M'< M) . 690 YAl

(21 Reifdui 286 M enald] =4 [squ % 2

Question: & HI0HI d2l ot B. A @oNledl Sl-ollod] 4291 dodleeql 3Rz
29l

A: 12

B: 2:1

C: 1:1

D: 2:3

Topic: Physics-Section A

Item No: 41

Question ID: 1449641

Question Type: | MCQ

60 em x 50 em » 20 em URMIBL Y19l GiR§ell 25519 1 em [ecllgteil 2SLE
YLl 215 vidles WIWM YsdiMi 211949 8. 0°c 2] ¢l2s Hrlddl wlwid

Question: 40°C dl4Hlel %Lqmou dlUHla dlgdiHi w19 8. sl gell dlainglel £2 9216191
(W26 C’ifiJLffj,Halélﬁ{l 3.4x10° Tk ! wal wqles [edldell Gl dl&sdl 0.05 Wmlec! 8.
A: 61x1072 kg s7!
B: 61x10 2 kg s |
C: 208 kg &7
D: 30%10 kg st
Topic: Physics-Section A
ltem No: 42
Question ID: 1449642
Question Type: | MCQ

A1yl 1 B2el Yscldletl vl 8. ARyl w0 52 [dl2re Gul W Hud e8]

Question: [@lzre Guilel oald? o).
A: L
: 2
B: n+ 2
n
C: L
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n
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Topic: Physics-Section A
Item No: 43
Question ID: 1449643
Question Type: | MCQ

15 G0dald d22] 1= 2sin (ot—ky) om 45 2% U1Y 8. A3 d221d] 581 HedH

Question: QoL B2l A A U 3oL doll o He em 919).
A: 4n

B: 2n

C: T

D: 2

Topic: Physics-Section A

Item No: 44

Question ID: 1449644

Question Type: | MCQ

o121 eatlde uRuani 67 {1 @2l dolad i 24199 8. Aeilyidl uMiz 4dl
ydls 29].
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2
Topic: Physics-Section A
Item No: 45
Question ID: 1449645
Question Type: | MCQ




e2llcul e 7ogedl Re[dHletstl dslad dR1iddl GeatHst & w15 UHlet
HYl25] M1 oflsdlul w1dd 8. %l 501 K Wy @y 8, @ULT w| Aot
AUHidR 2uled 54 Qlovl £, 8. ¢ 501 K oA vllad Ml 19 © 2 5 24l

SIUSEASZ]S WU [S Y1l SIUSASE]S HIHA ArR5l(] 182) 9422 glwd
5T 19 O, 41 AA1oelal AHidR AAe UMl 546 Glod A £, A1u 9,
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.' Te i
A: .
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Topic: Physics-Section A
Item No: 46
Question ID: 1449646
Question Type: | MCQ

{106 15U LAl Me{A1R 1;=30 em 2l 1,=50 em (A1 HR1d (] A

ddalsR AHBegld Al X-v YHdaH ] HsdIHT vl 8, wisdui
gallcal wef R Quiell 7= 74 %24l dlarudle UHR 5AHI H1d 8. M1 ]
adatsiR Atonilell eetdl dAsl qu Yo sly ULsHIAl 29,

Question:
I !
A: 7 f{'.im
2
B: _E kAm
2
C: Tk Am>
D: Tk Am?




Topic: Physics-Section A

Item No: 47

Question ID: 1449647

Question Type: | MCQ

35 43| selector (UL 524112) 7 E;{ el 5 _ B}, oRll B =12 mT o tl=19 8.

Question: de x-48tell [£21H1 2U[d 52l 728 e SA5ELeA %] it MUl DR UUR

524 €ld dl ] o Y& &9,
(8452lele] £01=0.1x10"> kg W [UE B))

A: 192 kVm™!

B: 192 mVm™!

C: 9600 kVm ™!

D: 16 kVm™!

Topic: Physics-Section A

ltem No: 48

Question ID: 1449648

Question Type: | MCQ

M, 2 M, el & eollel sas] WALl « Waqeidd] el 3 e axriifsd y«l

2] UM s 1M 211d] B deil & BS1 12101 wliygHi 141991 B, %l
&9 M, WM, 52dl WHR Eld AR dAHl a) Bedl WA HA 8,

: o a
U M, U My 5L AR Sl B AR dAell Uddl a, Bedl HA 8, ;—’

LMl 211l

Question: /-\
®
JMI W
N M;,_

A: e

3
B: 2

3
C: 3

2
D: 2

2




Topic:

Physics-Section A

Item No: 49
Question ID: 1449649
Question Type: | MCQ

&) o (51Tl URHIR] £N115 4:3011 ARNRMI . Audlef] Lot

Question:
JRlld Yool s2l.
A: 4:3
1
B: (3)3
4
C: et
1
D: (i )3
3
Topic: Physics-Section A
Item No: 50
Question ID: 1449650
Question Type: | MCQ

35 Setd] @R G5l AURLAL ERSIeAL 21586 83 2.54107 4?8, Botoll
HedH Glusdletl &udl 10 12ls 241 8. Betofl HedH Glusdlsil audl 25 A2ls

Question: 2st 5cl €U dl £1251e11 115Des] El-s0 o1e52l.
(g=10 ms 2 dl.)

A: 6.25%10 *m?

B: 10210 *m?

C: 1x10"4m?

D: 1.67x10"*m?

Topic: Physics-Section B

Iltem No: 51

Question ID: 1449651

Question Type:

Numeric Answer

— AA A o n A A - =
% 4 =[2:’+3j—k]m ue B=[f+z;+zk]maq dl ufe2t oMl ufeat S-l

Question:
[e2111i g2 se] Y m 48,
Topic: Physics-Section B
Item No: 52
Question ID: 1449652




Question Type:

Numeric Answer

BogHiell yrR adl el dodiga dofell 289 wel wejdeila ¥15 «nisiily

Question: Ululsfl uslddet (Aol (radius of gyration) m &2,
ol a1 5.5 mH1UE D),

Topic: Physics-Section B

Item No: 53

Question ID: 1449653

Question Type:

Numeric Answer

(Ue 2 15(dH], AU Sl oAdl [UHell 4c o < Bedl dsledatis
H21ddl vdteli d] 2ld sedtsa i 118 & % gel ac o419 Uz 60° #1L 510

B [Uld 2d ustal [5281 eleg 4c o AHidR 2010 98, ud el ds5leidelis
Hzg HA B xo YK &2l

(51Ue0l asletdatis = 1.5 1109 D)

Question:

Topic: Physics-Section B
Item No: 54

Question ID: 1449654

Question Type:

Numeric Answer

6] sasi Y (saul el UHIRIMI MR (56U o4el1d B 5 B of [ Aell YA
a3 w1d] 2Ll

Question: IZX + IZX = 42}’
2 x vl 4y ofl uld Y561t oiae1Glod 2150 1.1 MeV 241 7.6 MeV 8. 11
ulsul L(Hulet Ysdd ddl Glosd MeV &4,

Topic: Physics-Section B

Item No: 55

Question ID: 1449655

Question Type:

Numeric Answer




20 kg 91, 0.4 m? of 2158 A 20 m dedlefeil A5 (1 [Hd @13 UlNla os(Sd
IHR Ul desigaiHi w1d 8. 841 (lateral) Us1UeA 1QARIAL v [ANUMI

Question: ;
(A28l x x10° m UE B. x o Y& &2,
(Y=2x10"' Nm™ %l g=10 ms™)

Topic: Physics-Section B

Item No: 56

Question ID: 1449656

Question Type:

Numeric Answer

BI5[AHD CE dRUAMT dURLdL 2l(evresl 2182 dlet(Blsdl eelldd 8,
qUAAL Y[RUAHI 58522 AWM 2 ke ol §1R AdR0Y S15dIHi 41249 B.
2lem200l ety a1 0.50 k@ 8. 2llexres{l dleeer a0 (gain)

2191,

Question:
O e S e e
TN RIS :
_ | |
104 — Lo
- R
’ o
| | | |
0 —t—t— > X
100 200 300 400 1g(pA)
Topic: Physics-Section B
Item No: 57
Question ID: 1449657

Question Type:

Numeric Answer

51C, 0.16pC ¢ 0.3pC =1l A8l [Gigad dlowetlll, steslel, (Aslel 3 3-il
W 1%u] 4B = 3 cm, BC = 34/2 ol €4 =3 cm el 4 ¥ 5125181 €1 deil

Question: ; :
(21216l 4, B, c U YsaIdi 24194 8. A GUR 284 [AZdd R H15l-ll
[AydeilRla 51291 N %24 [Rad ([agdsly oo wsqeqel.
Topic: Physics-Section B
Item No: 58
Question ID: 1449658

Question Type:

Numeric Answer




8 © A0 YUl QUM olal YoslA B=tal 5161 UHY A8 Wedld sasu

Question: o =§ (9- ¢2) a3 211l st B. 2peu Ay i Yl oI Geust 56 GWiL
J4gl.

Topic: Physics-Section B

Item No: 59

Question ID: 1449659

Question Type:

Numeric Answer

300 cm G168 Ul2=2ll14] 22 di2al 7800 1Y 2 4Vl UHI[Qld 51N

Question: U1 AU 20 mV of emfHR Dl 51N %15dl d2el (6ig,. (null point) HI2etl
dule 60 em HA B. UlRe2(ld1Hl22 dlzell waly Q99

Topic: Physics-Section B

Iltem No: 60

Question ID: 1449660

Question Type:

Numeric Answer

U YRue Yoo, k=l 2k Bedl (Bl wuais yrladl o [Bisle ¢am
U8 15l w1ad B, ol wis(d (a) Ui Elaetloll 2idd 5101 35 S1A dl wUs(d
(b) Hi gleelledl A5l f7s B. x o YL 291,

Question:
figure (b}
figure (a)
Topic: Chemistry-Section A
Item No: 61
Question ID: 1449661
Question Type: | MCQ

[exlodleflet 0.34% w 1ot £one] 4219 8. dl 3.3 g [SHlodle{lAH] Fe

Question: URH 1] 2uy] 2014,
104 ; UMY €01 Fe = 56 u, Ny = 6.022 x 1023 mol™)
A: 1.21 x 10°
B: 12.0 x 1016
C: 1.21 = 100
D: 3.4 x 1022




Topic:

Chemistry-Section A

Item No: 62
Question ID: 1449662
Question Type: | MCQ

o120 24041 Aefl AeAAlws el Bsdletl (Us[c) Yedl sHHi M6l

A. CaF,
Question: B. CaCl,

C. CaBr,

D. Cal, i
A: BxA<E<D
B: A<B<C<D
C: A<B<D<C
D: A<C<B<D
Topic: Chemistry-Section A
Item No: 63
Question ID: 1449663
Question Type: | MCQ

3] 1211 [qauel»A duel a9 (21815 glrl s €2 wg ¢larl Beil pH 8.26
Sl d eielladl sly. ([qael» W[+ sa1R185e11 B2l aseell, 0.2 M
W1l ¢larii 2aad) us el 15 qlez «lg2 s,

Question: (104 : pK,, (NH;) = 4.74
NH; of HI6R 69 =17 g mol™!
NH,C1 o HI82 691 = 53.5 g mol ™!

A: 53.5¢g

B: 723 ¢

C: 107.0 ¢

D: 1260 ¢

Topic: Chemistry-Section A

Item No: 64

Question ID: 1449664

Question Type: | MCQ

30°C UR, AB, <l [Gelesiell 24 241321 200 s & 2=l B AB,ell UIR[HS igdlel

Question: dA D). dl 80% AB, =il [Aeles HI2etl uH A=l |11 204l
(W4 : log 2 =0.30, log 3 =0.48)
A: 200s




B: 323 s

C: 467 s

D: 532s

Topic: Chemistry-Section A
Item No: 65

Question ID: 1449665

Question Type: | MCQ

o2 & [Aylefl 41061 B W5 5244 A 93 WA oflontdd R 93 duig 53¢ D,

5901 A 11215 (Finest) lo] €1 1) S1U V. BH 58164 5¢ 48 AH A ]

Question: yesl dreotl wa 2id vl g 8.
SIREIR : seflauy ¢larlell 221, [d8ue 511 gl1 uslels uidl usilsil
daeedls U vieRld slu 8.
GuRlsd & [Ayleletl ee{ul «12 24al [asadl Usl AR sgle A1),
A: il A 3 R AU D A R ¥ Asfl H12 Mol B.
B: ool A 2l R UIUL D el R W Al 1] anogdl =teil.
C: AUR B UIdRUIE B,
D: AUlE 8. RRd R AR 8.
Topic: Chemistry-Section A
ltem No: 66
Question ID: 1449666
Question Type: | MCQ

Question: 3[@, % %o JAelef (Olg WseH o1y & wia dof 211dd @dlet W Hidell s B
A: Al

B: Ga

C: Se

D: In

Topic: Chemistry-Section A

Item No: 67

Question ID: 1449667

Question Type: | MCQ

Question:

of|Ast 1] 56 Hld detl Ues18S Wi IRld wau2sHi] (A8 [Nd s2dH1 2419l

9] o

A:

Aluminim




B:

Iron

C: Lead

D: Zinc

Topic: Chemistry-Section A
Item No: 68

Question ID: 1449668

Question Type: | MCQ

SlE51o%el URL51ES w4l WR1S1S Kvino, «fl ulsal gl «(1Aetmied] 56 ofluey

Question:

HA &) 2
A: §5c Mn*™ wd H,0
B: §5c Mn?~ ¥ H,0
C: §5d Mn*" el H,0. 0,
D: §5cl Mn?™ 2 H,0. 0,
Topic: Chemistry-Section A
Item No: 69
Question ID: 1449669
Question Type: | MCQ

o2 & [Aylefl 21061 B V5l 52Ut A Vi ol 51201 R 93 duid 534 B,

5oe A : LiF UlR{lHi wieiglcy 9.

Question: SIRQIR : Li” 2 etedl R[S Gl dell Asetl #eDAS] vod of1efl B,
1] defl e165521e1 Bl iad] 21691 B,
Gusd [Quislletl Heeini «{12 211041 (asedluiall 2110y [aseq ude 530,

A: oisl A 24l R UIUL D 24l R W Al Y12 dyydl B,

B: ool A 2ol R HIUL D 24l R W Aol U1 unogl «teil.

C: AU B WRRUIE D,

D: AW B URdR AR B,

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 1449670

Question Type: | MCQ




o120 & [ay[l v104] & Vs 5%t A 95 oflona S1R81I R 48 old 539 6.
52 A : 61715 W(US 25 (Aol V[s 9.

Question:
Heston 51201 R : 61135 WS Wdledl 1A B 241eAa s 571 215l ool d wiel
Yol o HNd @ e H w1ded Y5d 53 B
Gul el [Aulellell et {10 w1 Qe el 0102 [asey oM.
A: ool A 2ol R HIUL D 24el R W Aol Y12 vyl B.
B: il A A R AL D A R ¥ Asfl AR Auogcdl «tedl.
C: AR B U R U <l
D: ARl UId R AR B.
Topic: Chemistry-Section A
Iltem No: 71
Question ID: 1449671
Question Type: | MCQ
Question: dld 56l % uldyersla & a ALl (UMY, SHiS: Fe.26: Cu.29)
B K,[Cu(CN),]
Topic: Chemistry-Section A
Iltem No: 72
Question ID: 1449672
Question Type: | MCQ
JRITA YR AR 1S,
yr ¥
ULN S L
A yed ®d 1 Uzl Vielet (Strip minis)
Question: B. det?u[d Uy &L I H3q 543
c [anig uig 0T 2 LHARIls widR
D. #{dHls Iv. 2 14Rlls GEN
o1 w041 [aseqluief] M1l wdled Y, 530
A: A-IL, B-III, C-IV, D-1




B: A-II. B-I. C-IV D-III
C: A-L. B-IV. C-I1. D-ITT
D: A.l. B-IV. C-III. D-IT
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

W5 s16i[e15 Aaletoll oA1Hul {12 w6 (sA120le uyesdl v Hsdied qR

Question:
g2cdl 54 dell TUPAC o115 il vllela 21181]d 520
A: — COOH>— CONH, > — COCl > — CHO
B: — SO;H >— COCl > — CONH, > — CN
C: — COOR >—COCI>—NH, > »C = 0
D: — COOH >— COOR >— CONH, > — COClI
Topic: Chemistry-Section A
Item No: 74
Question ID: 1449674
Question Type: | MCQ

Question: o2 w0el U5l 59 AeRedlds UAlogete] Gelsl «tel 2
A: _“
NH,
D:
Topic: Chemistry-Section A
Item No: 75
Question ID: 1449675
Question Type: | MCQ




Question: oAl Aet el 52Ul walaeiiosst gL stedlels 1S 11yl 2
A: Syl
B 6 (sotet SIRIAA [uH 591165
C: Wepld I6121BS
D gelleflot 2qlus\d 3214
Topic: Chemistry-Section A
Item No: 76
Question ID: 1449676
Question Type: | MCQ
i
EtO — C — H,C —Q CH,CH,cN () DIBAL-H
Question: (i) H,O
[Et iS _CEHS]
GUsd Ulsal ealleiH dl 2o Yu ofluoweil 21111el 520,
A OHC — HaC QCHELTHZCH(]
0
5. ol
' EtO — C — H,C @ CH,CH,CHO
i
C: EtO —C — ugcﬁ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A
Iltem No: 77
Question ID: | 1449677
Question Type: | MCQ

w0 UlsAL HI2 ulsaslel 1] dussldl sH 20l
NO, OH

Question: éj ; éj
NH, |
A: HNO,, Fe/H". HNO,. KI, H,O/H"

HNO,. KI. Fe/H . HNO,. H,O/warm




C: HNO,, KI, HNO,. FeH™, H,OH"
HNO,. Fe/H . KI. HNO,. H,O/warm

Topic: Chemistry-Section A

Item No: 78

Question ID: 1449678

Question Type: | MCQ

Question: 2004¢] desel 1Dl o1 w4109 Hiell 5L [Hale 224 5218l HA B
A: SVt W 221U

B of [21uilef 24} HeEs2

C: WIS Lot 2 ues

D oAl yled 2 221Ul
Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ

Question: ulileye] 22 Rl odlog <11,
A: SAHETRICT Aot

B Hleeln

C: Y|4 5]%¢

D L =Tl

Topic: Chemistry-Section A

Iltem No: 80

Question ID: 1449680

Question Type: | MCQ

o120 & [aylell 106 B Wsa 58e4 A 45 oflontal SRR 95 duid 539 D,

5ot A : [sellestelet pH w1 1H1ld yus © 2 W[isls HirHui 21(qels we
A (335 HlHU e lod] 231 11T B,

Question: 3@{2{ R : [pelesellot A (oo WS B, 8 Alys uiani [Gdleyd udl
oe]],
Guell [Aetell=l e, {120 w06l [asediHiel 21l egled uie 530 419y
[aseq urie 530

A: ool A 2ol R HIUL D 24el R W Aol Y12 vyl B.

B: il A A R AU D A R ¥ Asfl 11l nogcdl «edl.




C: AUR B WRRUIE D,
AUlE 8. URd R AR 8.

Topic: Chemistry-Section B

Item No: 81

Question ID: 1449681

Question Type:

Numeric Answer

27°C W\ 6 bar U2 0.0125 m> &Hdld19] W5 UlA sloSlssl Wl [elauds] 10 ¢

(a1 1212 8. dl (e (slauud ¢a g 8.
Question:

(MIUE: R=8.3TK ! mol™)

(URHIRA £ H 3l He of 2ei5H 1u 4l 4u B)
Topic: Chemistry-Section B
Iltem No: 82
Question ID: 1449682

Question Type:

Numeric Answer

25 w{1-e 2B Fof] 5@ 53, Bell RY[5[AUU 11UAUT Aell SA5ENA=1] vl

Question: ; i
52l fa'% vl %Bedl «2ele 9y "9 8. dl ‘a’ <] Y& 20ldl.
Topic: Chemistry-Section B
Item No: 83
Question ID: 1449683
Question Type: | Numeric Answer
s ulsuldle,

H,F»(g)— Hy(g)+F(g)

Question: AU=-59.6 kT mol™! at 27°CU3.
GUe{| ulsaiui Wernleflui adl 3251 () kJ mol™! [1%)5e1l Yul5]
(MIUE : R=8.314 TK ~lmol™)

Topic: Chemistry-Section B

Iltem No: 84

Question ID: 1449684

Question Type:

Numeric Answer

Question:

s [Agyd w[geilomrl ¢led Adf 1 Hlde ¢glarl HI2 G (oighi G-t 3K 8.
d % glasii A<l 2 Hl94 ¢lalell 81291 [wigH] 2414t 6 K 8. Ky 24 Kol

ARIdR Kg/Kr 1: X 8. dl X o &




Topic:

Chemistry-Section B

Item No:

85

Question ID:

1449685

Question Type:

Numeric Answer

2@l 13, 10 mL 51UR UGh2ell GBI 4y UScL KI 118 e 2R](] YU soil
GU2L 53] HeqH YA 52l 20 mL 0.02 M S ¢lalell GUlaL AR B, dl
cu?™ ol Hlai3lel x 102 M HIgH usl.

Question: T —
WIUE 2 Cu?™ +41 — Cuyl, + 1,
I,+28,05 —2I+ 5,05
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

o |2 w4106l Ulsuimiell wid 4dl Hleg=l BUL sl 21 [”eA1520] o UlHdl
e letled] Hual 2014l

Question:
C,H;OH + PCl; —C,H;Cl1 + A
A+PCl; —B

Topic: Chemistry-Section B

Item No: 87

Question ID: 1449687

Question Type:

Numeric Answer

MnF ;. MnF; 4ol MnF, U5l uodol 201 (5245200 8- dl 41811 Hdlogete] 2lsi-

Question: , :
s5c oislA ULsHIAL] Yt BM. 8. (12951l YyuIls)
Topic: Chemistry-Section B
Item No: 88
Question ID: 1449688

Question Type:

Numeric Answer

(M85 1156 5ot Hlell sdl2lA21e 52l Hondl uHe2slell asieily

Question: i
HHUE 51 A1) 59 qul 2
Topic: Chemistry-Section B
Item No: 89
Question ID: 1449689

Question Type:

Numeric Answer




100 ml CH;CH,MgBretl ¢lollat (Mel=fle 2418 ul5ul 52l 2.24 mL 41 STP ¥

Question: : :

HA B, dl Gdsl Ul 241 dIY] 9% mgHi 2041,
Topic: Chemistry-Section B
Item No: 90

Question ID: 1449690

Question Type: | Numeric Answer

of |2 24106 21184 Usl 56524l ulls @ seH udlodlal 8, d 20l

aueston: |y gl suiellet Aedlalldlet 6, Il ied e




